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Question Number : 1 Question Id : 799627651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 1 5
If x+== 7 then the value of x%+ — 18
X X

Options:
1. * 45

> o 47

i
#
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Question Number : 1 Question Id : 799627651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
W x+ - =7¢ A P+ FASE

Z

Options:

1 = 45
> o 47
o ® 51

g4 ® 55

Question Number : 2 Question Id : 799627652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The HCF and LCM of two number are 12 and 72 respectively. If sum of the two number is
60 the one of the two number will be:

Options:

1 ® 12

> o 24

60

.
g{

P
$<
=1
-2

Question Number : 2 Question Id : 799627652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



3T GEITHT FT HE.9. AT .99 FHM: 12 3y 72 & T
ST 3F TEATT H FT AT 60 F AT 57 o FEATHT A H 0H
ZIa:

Options:

1 = 12
o 24
ST ] 60

g ® ?2

Question Number : 3 Question Id : 799627653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The product of the polynomiols (x-2y) and (5 x* + 8) is of degree?
Options:

1 % 1

rd
g{
| ]

3« 3

Question Number : 3 Question Id : 799627653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TEIET (x-2y) TF (5x7 +8) F IUEARA H B 2

Options:
1 * 1

2_%2
3¢ 3

4 % 4

Question Number : 4 Question Id : 799627654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The age of a man is 4-times that of his son. Five years ago the man was nine times as old
as his son was at that time. The present age of the man is:

Options:

, w 48 years

45 years
32 years

28 years

Question Number : 4 Question Id : 799627654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
U HGHT H 3H 3HSF 9¢ W 4-7AT ¢ T T g q¢ HEAT HIA I F
3§ §AT & 3H ¥ A T G937 97| JEAT H TIAS A g

Options:

| ®% 48 TN
5 % 45 TF
s ¢ 32 ¥

4 % 28 Y

Question Number : 5 Question Id : 799627655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Average score of 40 student in a class is 34 later on it was found that the
score 11 was incorrectly recorded as 51 the correct average score is:

Options:
1 ® 29

4. 33

Question Number : 5 Question Id : 799627655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



T FeT H 40 o & 3i9d 37 34 &, 9 # 9w 71ar &
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Options:

1 = 29
o R 30
ST ] 32

4 o« 33

Question Number : 6 Question Id : 799627656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

= & ke
The value of 27 2 X (2?5 =+ 2?3) is:
Options:
1.+ 1

nd
g{
I~

Question Number : 6 Question Id : 799627656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
275 x (275 + 273) # A &:
Options:

1.« 1

2_-%2

4 % 4

Question Number : 7 Question Id : 799627657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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1. ® 12

Question Number : 7 Question Id : 799627657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3 iz 9

TR A 5

Options:

1 = -12
> o 36
ST ] 9

g4 ® 48

Question Number : 8 Question Id : 799627658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Fourth termof 2.7. 8.1. 1.5 is:

Options:

Question Number : 8 Question Id : 799627658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2.7, 8.1, 1.5 & Tq¥ 9T &

Options:



Lv 45

Question Number : 9 Question Id : 799627659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What number must be added to each of 4. 10. 12. 24 so that the resulting numbers are in
proportion?

Options:

> 4

Question Number : 9 Question Id : 799627659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

4,10, 12, 24 93 H FIT F&IT AET AT TR0 F sAFr IRonE g
AT H E?

Options:

1 & 2

2 ¢ 4
3.-535

4.#8

Question Number : 10 Question Id : 799627660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The price a commodity has increased by 20% find the reduction in consumption of the
comunodity by a consumer so that there is no increase in his expenditure.

Options:

o 111%



o ® 209
. x 153 %

162 %

Question Number : 10 Question Id : 799627660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TR TEG N RHAS H 20% F L §F T 3T GART TH TEG H @IS A
fraelT #3T FT T & 306 T A Fig Jig FA@r a@r?

Options:
% 113%

o % 20%
. w 153%

4 ¢ 163%

Question Number : 11 Question Id : 799627661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In centre of a triangle lies in the interior of:

Options:
, = Anequilateral triangle only

» = Anisosceles triangle only

- = Right triangle only

4  Any triangle

Question Number : 11 Question Id : 799627661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 799627662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The parallel sides of a trapezium are a and b respectively. The line
joining the mid points of its non-Parallel sides will be:

Options:

1 % vab

2ab

Question Number : 12 Question Id : 799627662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TF FHATAT TGS & FAAET T&T FHA: asib g FHH
FAAT 9eil & Feg &gl F7 A Jrer @r grem:

Options:

1 % vab

2ab

Question Number : 13 Question Id : 799627663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



i S 1 : 7
An angle is ETd of its complement and = th of its supplement then the angle is;

Options:
1.« 36°

o ® —1-5':'
=z ® —’I-'DD

g4 * 560

Question Number : 13 Question Id : 799627663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T FIOT A F F - T AN FIA TEF F - A, A FOT &

Options:

@ 36°
. % 4B°
2 % 40°

. % 56°

Question Number : 14 Question Id : 799627664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
- 1 il 1 - v
If the surface area of cube is 2166 cm”what 1s the length of its diagonal
i cm?
Options:

o

1 ® 15
2_&5 19

5 1543

4 v 193

Question Number : 14 Question Id : 799627664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



3N Ueh el FT Tdg &% 2166 cm? ¢ o 39 Qwet i s
T g(cm #{)?

Options:

1 ® 15

o ® 19

—

z B 151.,"'3

4 1943

Question Number : 15 Question Id : 799627665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A boat goes downstream in half the time it takes to go upstream. then the ratio between the
speed of the boat in still water to that of stream is:
Options:
1.9 3:1

i
b
| S
e

Question Number : 15 Question Id : 799627665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ATT 9nT & fGor 7 Fa 9T g Fr Tuig T 7 I
T TS ATl WA H AT, FAI W4T g, aF O HF g A
P 9=l A AT Fr afa F @ F g 2

Options:

1 ¢ 31
o @ T 52
z % 1T:3
g % 2 :1

Question Number : 16 Question Id : 799627666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

: s i 7.83 x7.83 -1.17 ®x1.17
The simplification of 7 ?

Options:
1. * 3

2 9

Question Number : 16 Question Id : 799627666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
183 % 83— 11 w147

6.66

FT JTEITRI0T 2

Options:
1 ® 8

> o 9
z % 7

g4 10

Question Number : 17 Question Id : 799627667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

; ; 4 : i 3
A student was asked to multiply a given number by — By mistake. He divided the given

5
number byé . His answer was 36 more than the correct answer what was the given
number?
Options:
1 ® 60

Question Number : 17 Question Id : 799627667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



T OIF F IO F & TE WEAT T 4/5 IR IO A F T FEr w385
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Options:

1 * GO

> ?O
z « 80

g ® 90

Question Number : 18 Question Id : 799627668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rahul can walk 152 km in one hour. How much distance will he cover in 3} hour?
Options:

1 « 17km

5w 173 km
z % 20km
4% 2035 km

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 18 Question Id : 799627668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TG T ©E H 153 fohell oI Wepem g1 FF 3] ©e A fRee gt 77 FHEm?

Options:

1;1?%’@

1732 feRaT

> R

2011 foRaT

4 ®

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.



Question Number : 19 Question Id : 799627669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio of weights of tin and zinc in an alloy is 2:5. How much zinc in there in 31.5 gm
of alloy?

Options:

X
| o 22.5gm

| S
_h
i._1'1

' gm

30.5 gm

Question Number : 19 Question Id : 799627669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v TR org 7 e 3R FF & 391 7 3ea 2:5 81 A a9 & 315
IH H Faar & 22

Options:

1« 22.57MH

, » 1153
2 = 2559H

. % 3059H

Question Number : 20 Question Id : 799627670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the greatest number that will divide 400, 435 and 541 leaving 9. 10
and 14 as remainders respectively?

Options:
1 ® 15
> R 16

3« 17

4 #® 18

Question Number : 20 Question Id : 799627670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

I OFH I §EAT 94910 THEH 400, 435 va 541 7 Fuaa
FIA U7 AUFS FHM: 9, 10 3T 14 =T T

Options:

1 ® 15
o W 16
=z o 17

g4 18

Question Number : 21 Question Id : 799627671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The internal dimension of a water tank are 24 mby 1.6 mby 1.2 m.
What 1s the capacity of the tank in liter?

Options:
{ % 3600

3540

r2
g‘{

4600

t
g{

4 « 4608

Question Number : 21 Question Id : 799627671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T UET &7 7 & 39 3mas 2.4 &, 1.6 #, 1.2 # 2
ey ¥ &F & &77ar FaT 27

Options:

. = 3600

> % 3840

s = 4600

. v 4608

Question Number : 22 Question Id : 799627672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A rectangle room i1s 9'm long 6 m wide. Find the cost of covering the floor with carpet 2m
wide at Rs.35 per meter.

Options:
1 ® Rs.850

o o R35.945
z #® Rs.9380

4 % Rs.835

Question Number : 22 Question Id : 799627672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

U HIATRIT FAT 9 & o=r 6 #r =itsr g1 w2 &7 35 T gfa #AeT & 2
HeT T2 FIeiled SIRT Tehe! N T FAT B2

Options:
. % 850 T9T

5 « 945 TIT

Question Number : 23 Question Id : 799627673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How long will it take for Rs.2500 invested at the rate of §% per annum simple interest to
amount to Rs.31007
Options:

1w 3 years

5 % 4years

5 % Syears

4 % 6 years

Question Number : 23 Question Id : 799627673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



2500 TIT Fr 8% FI I HURUT =41 X ¥ AFer s 9¥ 3100 TOC g+

v F LY
H raar 9HET TEET?
Options:
1 v 3 U

Question Number : 24 Question Id : 799627674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man buys 100 oranges for Rs.60 and sells them at eighty paise per orange. What is the
percentage of loss or profit?

Options:
1
33— %loss

1 ® 3

33 % % profit

z % 20 % loss

20 % profit

Question Number : 24 Question Id : 799627674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TF HTEHT 60 TIT F 100 Tay @WiEar g 3R 3¢ 3T 99 ofs gav 9T s=ar
g 3TET grfer ar ameT v gidery Far &7

Options:

3331% gifer

1 ®

3319% Ty
oo 3

. w 20% @ifer

. % 20% TeT



Question Number : 25 Question Id : 799627675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

V63 x47 .
The value of ——— is:
Y27
Options:
1 ® 21
- ® 18
.o
4 % 5

Question Number : 25 Question Id : 799627675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

V63 %47 i

S #AE E
V27

Options:

1 ® 21
o W 18
3¢ 7

4 % 5

Question Number : 26 Question Id : 799627676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A. B and C working together can plough a field in 42 days.A and C
together can do it in 8 days. How long B working alone take to plough
the field?

Options:
, = S8days

> w 10days

5 o 12 days

4 ® 15days

Question Number : 26 Question Id : 799627676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

A, B X C Try [Feaw &7 o34 W Tk TF & 4! A & 9 @d 21 A
X C gy FeeT =0 8 BT & FT g9 §1 B 3Fa FH & T & AT
H rdar GAET oEm?

Options:

1 B aﬁﬂ-

5 v 12 fet

Question Number : 27 Question Id : 799627677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the circumference of a circle is 28 ¢m then the area of the circle is:
Options:

1« 48T

o R 58T
2 B 06 T

4 #® 196m

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 27 Question Id : 799627677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
UF Jod H RIS 28 FAT § AT Iod F &TFA ¢

Options:

1 48t

o ® B8m
z ® 961
4 ® 196

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 28 Question Id : 799627678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
If one number is thrice the other and their sum is 20. Then the numbers are:
Options:

, % 8,12

LA
.

o
LM

> W
2 % 10,10

4% 614

Question Number : 28 Question Id : 799627678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ofE T TEAT gEd ¥ A @7 § AR e AT 20 § A F wEA

Options:

vom 8 12

> 5, 15

Question Number : 29 Question Id : 799627679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio of the ages of father and son at present is 6:1 After 5 years the ratio will become
7:2 find the present age of the son?

Options:

Question Number : 29 Question Id : 799627679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



R AT A FIIa6: 1 5 TT F g 39d 7 : 2 &
ST | 4 H JAATT A FATC:

Options:

6 I¥

M2
®

=z ® ?Eﬂﬁ'
4 #® 83‘&'

Question Number : 30 Question Id : 799627680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A T EA F - IW WEAT F - F WA G S0 g A INOMH 3H T F
Y ¥ 15 JOF 3197 g1 9 FEAT F410

Options:

, » 180
. % 160
2 % 140

4 = 120

Question Number : 30 Question Id : 799627680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
S : : G g e
If 5 of a number is added to = of that number the result is 15 greater

than half of that number. Find the number.
Options:

1 « 180
> % 160

s % 140

4 % 120

Question Number : 31 Question Id : 799627681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



A train travelling at 60 km/hr passes through a tunnel 8§50 m long. Find How long a
passenger travelling by the train remains inside the tunnel?

Options:
1. «* 51 Sec

- % 30 Sec
= % 41 Sec

4 % 20 Sec

Question Number : 31 Question Id : 799627681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
U g 60 TR/ T IFAR W Teid g U 850 AT S FTT W AT &
qATT T & H A FT QT T A Toheelr & dF GET F e & 67

Options:

. & 51 BFE

Question Number : 32 Question Id : 799627682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On increasing the price of a cycle by 25%. It becomes Rs.1000 what was its original price?

Options:
1 ® Rs.550
> o R3.800

5 % Rs.900

4 % Rs.750

Question Number : 32 Question Id : 799627682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



TS WEhe FT FIET 25% FE W Tg 1000 TIC BT A &l TR 7 FAT

T or?
Options:
. % 550 T

> v 800 TIT
- » 900 T9T

4 % 750 TIT

Question Number : 33 Question Id : 799627683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The cost price of an article 1s Rs.600.Which is 25 % below the marked
price. If the article is sold at a discount of 15 %. Find the selling price.

Options:
1 % Rs.780

5 % Rs.480
s % Rs.580

4 « Rs.680

Question Number : 33 Question Id : 799627683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U& IE] F HT Ao 600 TIC g1 S e AT # 25% FA Bl ARG 3W 5]
F 16% FT T U I F1aT ¢ A $H FFHr Few gar F:

Options:
. % 780 9T

. % 480 FIT
- % 580 FIT

., v 680 TOT

Question Number : 34 Question Id : 799627684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



. . 2 ; . 3
In what time will the simple interest on a certain sum of money at 63 % per annum be =
of it Self?

Options:
1 % 5 Years
o o 6 Years

= #% 7 Years

4 % 8 Years

Question Number : 34 Question Id : 799627684 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

et ofr w61 % 9fa 99 1 3T T TuRoT = hae §ET # 3

SATT?
Options:
W 5 H

&

|

Question Number : 35 Question Id : 799627685 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: O

Find two consecutive even integer such that two fifth of the smaller exceeds two-eleventh
of the larger by 4.

Options:
, % 18,20

16, 15

Question Number : 35 Question Id : 799627685 Question Type: MCQ Option Shuffling: Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Yes

Yes

Yes



U a7 HiHEE §H TOie ad1¢ [S@H O &1 #7 2/5 ST 5 §Er & 2/11
¥ 4 3w 7

Options:

= 18, 20
5:m 165 1B

u 22, 24

20, 22

Question Number : 36 Question Id : 799627686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
How many times will the wheel of a car rotate in a journey of 88 km. given that the
diameter of the wheel is 56 cm.
Options:
, = 30.000

. w 40.000
2 50.000

4 ® 60.000

Question Number : 36 Question Id : 799627686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

88 fralreT & I H TF HN & 9igdr fhas a¥ gFen? gfgar & fear
IGT =ATH 56 BAT §:

Options:

. % 30,000
. = 40,000
- « 50,000

, = 60,000

Question Number : 37 Question Id : 799627687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If 3* = 5Y = (75)% then Z is:

Options:
2xy

f, W ke

x¥
o> of 2x+y

¥
z ® 2y+2x

Question Number : 37 Question Id : 799627687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afE 3 =5y = (75 ¥ Az ¥

Options:
2xy

1. % x+y

Question Number : 38 Question Id : 799627688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Six bells Starts tolling together. If they toll at the intervals of 2. 4, 6. 8, 10 and 12 second
respectively. How many times will they toll together in 30 minutes?

Options:
1.+ 15

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.



Question Number : 38 Question Id : 799627688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OF Ufedl Teh Y e & &l g] 3R § FAM: 2, 4, 6, 8, 10 3R 12
ThE &F ITUT W Tar 21 O F 30 BT F v Oy Faar aw g

Options:
1« 15
- % 10
2 % 12
4 % 18

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Sub-Section Number: 2
Sub-Section 1d: 79962715
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 799627689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There is a certain relationship between two given words/numbers on one side of (: :) and
one word/number is given on another side of (: ;) while another word/number is to be
found from the given alternatives. having the same relation with this word/number as the
words/numbers of the given pair bear. Choose the correct alternative.

729:9:: 1728 ?
Options:
1 ® 11

2 o 12

Question Number : 39 Question Id : 799627689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



(: ) F UF aTF fEU AT 2 oredr / T & 919 UF @E e g, AR ()
& GO IUF T C/EEAT &1 I § ik AU G G/ HEAT 1 fT AT
fredl § T 907 oETeT § SHeT 3§ AeS/HEAT F WY 3. & e & A F
feT 7T ereg/EE IR =iy T fawed I

128 5 g 12 9
Options:

1 #® 11
o« 12
=z ® 13

4 ® 14

Question Number : 40 Question Id : 799627690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

There is a certain relationship between two given words/numbers on one side of (; :) and
one word/number is given on another side of (: ;) while another word/number is to be
found from the given alternatives. having the same relation with this word/number as the
words/numbers of the given pair bear. Choose the correct alternative.

14: 21:: 16: 2
Options:
1. 24

Question Number : 40 Question Id : 799627690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

(: 2) % T 9% TEU T 3y oreal / HEATIHT F €19 UF WH T g, 3T ()
% ZEY IE TH AT/HEAT & T2 § Tk AT GHY AE/HE F Gr aIw
RBereat & ¥ 997 o= £ O weT 35 /ST & T 49T & §Eew & = &
few v ereg/EEaT TA 7 T W EEeT A

14 215 15 1 2



Options:

o ® 23
=z ® 28

g4 * 32

Question Number : 41 Question Id : 799627691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
There is a certain relationship between two given words/numbers on one side of (: ;) and
one word/number is given on another side of (: ;) while another word/number is to be
found from the given alternatives. having the same relation with this word/number as the
words/mumbers of the given pair bear. Choose the correct alternative.

7,42, 168:: 7
Options:
 w (9.42.168)

5 o (9.54,216)

. » (5.30.120)

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 41 Question Id : 799627691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

(: 2) % T 9% TEU T 3y oreal / HEATIHT F €19 UF WH T g, 3T ()
% ZEY IE TH AT/HEAT & T2 § Tk AT GHY AE/HE F Gr aIw
RBereat & ¥ 997 o= £ O weT 35 /ST & T 49T & §Eew & = &
few v ereg/EEaT TA 7 T W EEeT A

7, 42, 168 7
Options:

. % (9.42,168)

, o (9,54,216)



. » (5,30,120)

. » (5,25,75)

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 42 Question Id : 799627692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A number series is given with one term missing. Choose the correct alternative that will
continue the same pattern.

Options:
1 ® 79

ooR T8

3.« 81

Question Number : 42 Question Id : 799627692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ueh HEAT YT & 5 g [SEH UH W& a9 g 38 Wel [Sehed o [
Ig Yo I W@

25, 38, 53,66, ?
Options:

1 * ?9

> &R ?8

z o 81

g4 ® 80

Question Number : 43 Question Id : 799627693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A number series is given with one term missing. Choose the correct alternative that will
continue the same pattern.

15,7812, 73,968, 6.7

Options:
1 ® 65

o o 63

Question Number : 43 Question Id : 799627693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ueh HEAT YT & 5 g [SHH U HEA A g 38 Wel fSehed o [y
g Yo ST

15,78, 12, 73, 9, 68, 6, ?
Options:

1 ® 65
=z ® 70

g4 # 60

Question Number : 44 Question Id : 799627694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A number series is given with one term missing. Choose the correct alternative that will
continue the same pattern.

1.2,6,15.7 56
Options:
1« 31



Question Number : 44 Question Id : 799627694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ueh HEAT Y@ & 5 g [SEH U HE O g 3% WE Sehed I [
g Yo ST

1, 2,6, 18 2, 56
Options:

1 o 31
o ® 30
=z ® 40

g 24

Question Number : 45 Question Id : 799627695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If A is the son of Q. Q & Y are brothers: Z 1s Y's brother's daughter. P is the brother-in-law
of Z. Choose the correct statement.

Options:
1 « A is the brother of Z

» % Qistheuncle of Z
z % Aand Y are cousin

4 % Y is fatherin law of Z

Question Number : 45 Question Id : 799627695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I A QF AT L, QITY 52 & Z, Y F A2 Fr 987 2
P, Z &T 23X &1 Wér FuaT T

Options:

l_wA,me'é%

, x Q Z FT AN E



S_wAsﬂTYaﬁTﬂﬁ’%

Lx Y, ZF TG E

Question Number : 46 Question Id : 799627696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the following information carefully and answer the questions:

(1) A*B means A is the father of B
(2) A+B means A is the son of B
(3) A/B means A is the mother of B
(4) A-B means A is the brother of B

If P/R-Q*T. then how is P is related to T?
Options:
1 +« Grandmother

- % Mother in law
3 % Sister

4 % Grandfather

Question Number : 46 Question Id : 799627696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT TR AT <O ¥ 92 AT Jarel & 3ca7 &
(1) A*BFTHAIITE A, BFTREATE

(2) A+B FTHIIT £ A, BFTHETE
(3)A/BFTHIAT E A, BFraATE

(4) AB FTATATZA, BFTATE &

afg PR-Q*T.E @ P &7 T ¥ a1 HaT 27

Options:

1Ja|a-
gwm

3&.@337'"



4_$3'|3.T

Question Number : 47 Question Id : 799627697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the following information carefully and answer the questions:

(1) A*B means A is the father of B
(2) A+B means A 1s the son of B
(3) A/B means A 1s the mother of B
(4) A-B means A is the brother of B

If P*Q+R/T. then how is Q related to T?

Options:
1 % Sister

- « Brother
=z % Cousin

4 # Grandson

Question Number : 47 Question Id : 799627697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o ST <1 8 92 3T garet & 3eat &
(1) A*B FTHIGT & A, BFTREr
(2) AM+B FTHAAT A, BFTIATE
(3)A/BHRTHIAT A, BHTATE
(4) ABFTHIAT A, BFTHEE

afg P+Q+R/T &, @ Q &1 T & &1 Fa 272
Options:
12.63_57'[
2 v 5%
. % TRERT AT AET S

4_$$q1(_'ﬂ-



Question Number : 48 Question Id : 799627698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Once upon a tume tiger was looking for meat' is written as 'upon a fime tiger once was
looking meat for'. then. 'pandit Nehru was the first prime minister of our country’' is coded
as:

Options:

, w» Nehru was the first prime minister of our country pandit

-  Nehru was the first pandit prime minister of country our

= » Nehru was first the pandit country of prime minister our

4 # Nehruwas me first prime minister of our country pandit

Question Number : 48 Question Id : 799627698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Once upon a time tiger was looking for meat' I IfE 'upon a time tiger

once was looking meat for' #r aig for@r =mar &, &%, 'pandit Nehru was the
first prime minister of our country’ & FE # r@r AT

Options:
, = Nehru was the first prime minister of our country pandit

>  Nehru was the first pandit prime minister of country our

5 » Nehru was first the pandit country of prime minister our

4 » Nehru was me first prime minister of our country pandit

Question Number : 49 Question Id : 799627699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a certain code. 253 means 'books are old '. 475 means '"fiuits are sweet'. what stands for
"old" in that code?

Options:

1.4 3

-1



o
g{
I~

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 49 Question Id : 799627699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U 999 FI8 H, 253 F 37T ¢ 'books are old', 475 & 3T g 'fruits are
sweet', df =7 FIT F "old" FT &2

Options:
1. ¢ 3

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 50 Question Id : 799627700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a certain code. 851 means “good red rose ", 413 means "Good and tasty ". 162 means
"see good pictures”. Which of the following numerical value stands for 'good'?

Options:
1.+ 1

> % 4

Question Number : 50 Question Id : 799627700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

v 39w Fs A, 851 1 7Y & “good red rose”, 413 & Y § "Good and
tasty”, 162 T 31 ¥ "see good pictures"| @& TEacH+ AT #§ ¥ 'good'
FaT 87

Options:

1.« 1

2_&%4



3_&5

4 % 8

Question Number : 51 Question Id : 799627701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Kamal. Ajay. Rita and Rahul are having the dinner on a round table. Rita is left to Rahul.
while Kamal is left to Ajay who is facing South. Then Rita is facing.

Options:
1 % South

- % West
= o East

4 % North

Question Number : 51 Question Id : 799627701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FH, =T, ?ETB-ﬁT{lg-:-t U I AT T GAT &7 E E ﬁ?lTT@?»r#a%
AR 8, 9 FAT 35T & a5 oS ¢ [HS HE GA0r @ AN gl ar fer @
Te Fw AT 2

Options:

1 ® aﬁ'”

4%3?'?

Question Number : 52 Question Id : 799627702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

City 'A' is east to the city 'B 'and North to the city 'C’". In which direction is city 'C' from
city 'B'?

Options:

1 #% Woest

- % South-West



= « South-East

4 % North-West

Question Number : 52 Question Id : 799627702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MT AT B FEHFIAMW'C F3caX A&l X 'C' T B ¥ 79
fem 7 27

Options:

1 ® qm
.. AR
3¢ 8 i

g w ey Qﬁﬂﬂ‘

Question Number : 53 Question Id : 799627703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If North-East becomes East, South-East becomes South. what will West become?

Options:
1 % North-East

> % North
= % East

4 « North-West

Question Number : 53 Question Id : 799627703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
i F1 99 FATTT?
Options:

1 =

EMW



i

S - ] B

4 v 3cal TreEH

Question Number : 54 Question Id : 799627704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If TO =35. COW=41, then GOAT will equal to:

Options:
1. * 45

- ® 42

3 o 43

Question Number : 54 Question Id : 799627704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofg TO = 35, COW = 41, § ar GOAT &g+ IueT e
Options:

1 #® 45
o W 42
3 v 43

4 ® 47

Question Number : 55 Question Id : 799627705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If BAG =6. MANTLE=12 then ROME is equal to:

Options:



Question Number : 55 Question Id : 799627705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afg BAG = 6. MANTLE = 12 g @ ROME f&@s sre grem?
Options:

1.-5-534
2_@3?
3¢ 8

g4 ® 16

Question Number : 56 Question Id : 799627706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If SCHOOL is coded as 5 and FURNITURE as 8. what is code number for FEES?
Options:

1 ® §)

3
b
L

i
b
e

Question Number : 56 Question Id : 799627706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afe SCHOOL #r T # 5 3k FURNITURE &' 8 for@a &, & FEES &1 #is
FaT EET?

Options:

. % 6

o & 5

3.-5-:34

44 3

Question Number : 57 Question Id : 799627707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The sum of income of P and Q) is more than that of R and S taken together. The sum of the
income of P and R is same as that of Q and S taken together. Moreover P earns half as
much as the income of QQ and S.

Whose income is highest?

Options:
1 ® P

2_&$R

Question Number : 57 Question Id : 799627707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

P 3T Q #r 37 &7 T UF AT R 3R S Fr goew 7 7w g P KR &
HT FT AT Q 3T S Fr T T 3T F AT g1 SHS IFeEGr P T 37T Q
HT S & 3T T 3l &1 FEdr 3T gEy w3

Options:

I.WP

E_WR
=+ Q

4 % S

Question Number : 58 Question Id : 799627708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of income of P and Q) is more than that of R and S taken together. The sum of the
income of P and R is same as that of Q and S taken together. Moreover P earns half as
much as the income of Q and S.

Which of the following statements is not correct?
Options:
| « P eamsmore than Q

5 » Q earns more than R



5 # Q earns more than P

4 = Q eamns more than S

Question Number : 58 Question Id : 799627708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

P 3T Q &7 379 T IT vF WA R FR S F gl H HGF g1 P AR H
HT FT AT Q 3T S Fr vF T 3T F AT g1 TS IFemar P T 3T Q
AHir S Fr 3mr T a3l F

T=faflT Fuat F ¥ Fiaar gér J4r 82

Options:

P, Q ¥ UET AT &l

\.f‘

, » Q R ¥ = FAME gl

ok Q, P ® =T1er AT &l

, » Q S ¥ e FAE &I

Question Number : 59 Question Id : 799627709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question there is a certain relationship between two
given words on one side of (::) and one word 1s given on another side of
(::) while another word is to be found from the given alternatives,
having the same relation with this word as the words of the given pair
bear. Choose the correct alternative.

Triangle: Prism:: ?

Options:
1 % Line: Cuboid

- % Sphere: Earth

=  Square: Cube

4 w Circle: Hemisphere

Question Number : 59 Question Id : 799627709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

(: :) % TH aF U 7Iv g oreel & &9 U WiE HaY g, HW (: 1) & ghy
T T g fam A § FEte Ao gE ereg fiv v Repedt # & war
T & et 36 ereg & A1y 4@ & wEY g S f& fGe v ereg geH # E
T e T

e B 2 2
Options:
| % T FIEISS

g_ﬁﬁ:m
S.JE?%ZEEFI'

4_@51_?:?!1?11'&?

Question Number : 60 Question Id : 799627710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question there is a certain relationship between two
given words on one side of (::) and one word 1s given on another side of
(::) while another word is to be found from the given alternatives.
having the same relation with this word as the words of the given pair
bear. Choose the correct alternative.

Profit: Loss:: Win:?
Options:
; = Quarrel

> w Fight

= % War

4 « Lose

Question Number : 60 Question Id : 799627710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



(: ;) F TF WP T 71T 2F ot F &9 vF @ wEy §, AW (o) F @y
RE Teh g fGIT 71T g Faleh ATl gH g U a0 Bshedr & & 91
T & ST 39 wreg F WY 597 & HOw g S & T v e e H B
HET e I

=S T S = e
Options:

| w #|AST

E.Wﬁ-‘é’.

4 ¢ R

Question Number : 61 Question Id : 799627711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question there is a certain relationship between two
given words on one side of (::) and one word is given on another side of
(::) while another word is to be found from the given alternatives.
having the same relation with this word as the words of the given pair
bear. Choose the correct alternative.

Car: Parking:: Money:?

Options:
1 « Bank

> u Garage

5 # Refrigerator

4 % Bathroom

Question Number : 61 Question Id : 799627711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



(: ;) F TF WP T 71T 2F ot F &9 vF @ wEy §, AW (o) F @y
RE Teh g fGIT 71T g Faleh ATl gH g U a0 Bshedr & & 91
T & ST 39 wreg F WY 597 & HOw g S & T v e e H B
HET e I

FIT : 9ifeheT o o 7
Options:
| v dF

IMFaEY

L
B

4 % STURH

Question Number : 62 Question Id : 799627712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Find the odd one out of the following.

Options:
1 % Book-Table

- % Pillow- Bed
3 o Stove-Vessel

4 % Laptop-Lap

Question Number : 62 Question Id : 799627712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& 7 ¥ 3o Taw;
Options:

1 =B W'm

o w deRdr - e

; v T - 564

b b LY
4 % °ofISIT - g



Question Number : 63 Question Id : 799627713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the odd one out of the following.
Options:

1 % October

o w July

z ® December

4 « April

Question Number : 63 Question Id : 799627713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
= &7 ¥ 3o |a
Options:

1 ® &,

Sub-Section Number: 3
Sub-Section Id: 79962716
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 799627714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who was the first Indian Governor General of free India?
Options:

. « C Rajagopalachari

- % Sardar Vallabh Bhai Patel

= u Shyama Prasad Mukherjee



4 % Govind Vallabh Pant

Question Number : 64 Question Id : 799627714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TEdY 919 & 99H dET 947 JAIdT HiT o2
Options:

| v T T

, » TGN Toos &5 Tea

& smmﬁaﬁ

MEE gooreT 99

o
3’{

Question Number : 65 Question Id : 799627715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Jalianwala Bagh, where the British massacred a large number of Indians 1s in:

Options:
1 % Ambala
> % Jalandhar

3 « Amritsar

4 % Patiala

Question Number : 65 Question Id : 799627715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STorararem areT, FaT ey F a9 g & gt $r gear & o, FaEr 27

Options:

1. % JdTel
o STeleld
3¢ IR

4 # gfegrer



Question Number : 66 Question Id : 799627716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country will you not find represented in the map of Indo-China?

Options:
1 % Laos

- % Cambodia
5 « Thailand

4 % Vietnam

Question Number : 66 Question Id : 799627716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HTTeRT SSITSAT & Fal H PITAT ¢ TS el [Hom?

Options:

1. #® FiTB-ﬂ?F

5 ®% haESAT

Question Number : 67 Question Id : 799627717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The largest inhabited riverine island in the world. called MAJULT is in the river.

Options:
1 # Yamuna

-  Brahmaputra

- % Kaveri

4 % Indus

Question Number : 67 Question Id : 799627717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 799627718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a greenhouse gas?

Options:
1 % Carbon-di-oxide

> o Ammonia

5 = Sulphur-di-oxide

4 % Nitrous oxide

Question Number : 68 Question Id : 799627718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=AH T FiT O vF MaEEy A9 J6 82

Options:

| T SEHTFHISS

o« AT
. « HoWL SEAHFEES

, % TSeH 3MTFHSs

Question Number : 69 Question Id : 799627719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which is the matching pair of the type of soil and its description?
Options:

1 % Alluvial : Red or brown coloured soil



-~ u Arid : Soil deposited by river system

-  Laterite : Soil of areas with high temperature and heavy rainfall

4 = Redand yellow : Sandy textured non saline soil

Question Number : 69 Question Id : 799627719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 799627720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

One of the following is not a reason for cutting forests.
Options:

; = Making houses

- » DBuilding roads and train tracks

5  Driving away wild animals

4 = Making fields for growing crops

Question Number : 70 Question Id : 799627720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 799627721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How is India described in the Indian constitution?
Options:

, = Secular democracy

- » Secular and democratic republic

5 # Sovereign. socialist republic

4  Sovereign. socialist. secular. democratic republic

Question Number : 71 Question Id : 799627721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 799627722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Our constitution secures ‘fraternity” to all citizens of India which means it assures?
Options:

, w Dignity of the individual citizen.

- % Unity and integrity of the nation

- » DBrotherhood with neighbouring countries



4 « Both dignity of the individual and also the unity and integrity of the nation

Question Number : 72 Question Id : 799627722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 799627723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The national anthem of India was written by:

Options:
, w» Bankim Chandra Chatterjee

- = Mohammed Igbal

5  Rabindranath Tagore

4 % Subhash Chandra Bose

Question Number : 73 Question Id : 799627723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T &1 TS M fohges ganer for@r =mar ur?
Options:

| w dpETg Tl

. u FIGFAG FhaT

5 v Wegary SR



, x T % I

Question Number : 74 Question Id : 799627724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the highest civil award of India?

Options:
1 % Padma Bhushan

~ « Bharat Ratna
= % Padma Vibhushan

4 % Padmashri

Question Number : 74 Question Id : 799627724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 75 Question Id : 799627725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the constitution of India. one of the following freedom is not provided for:

Options:
; = Speech and expression

- % Free movement within India
= # To form unions and associations

4 10O carry weapons freely without any license



Question Number : 75 Question Id : 799627725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 799627726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The current scoring system in Badminton requires maximum three
games. each played to:

Options:
, % 12 points
15 points

por i
5 21 pomts

30 points

o
5
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Question Number : 77 Question Id : 799627727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After MS Dhoni. who is the captain of the Indian Cricket Team?

Options:
;% Virendra Sehwag

> o Virat Kohli
> % Ishant Sharma

4 % Irfan Pathan

Question Number : 77 Question Id : 799627727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 78 Question Id : 799627728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The next Olympics in 2016 will be played:
Options:

1 « Brazil

» # Argentina

= & Pemu

4 % Pakistan

Question Number : 78 Question Id : 799627728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 79 Question Id : 799627729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many pawns are needed to play a game of chess?

Options:

Question Number : 79 Question Id : 799627729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 80 Question Id : 799627730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Roger Federer and Sania Mirza are celebrated players of:
Options:

1 « Lawn Tennis



- % Table Tennis
5 % Athletics

4 ®% Swimming

Question Number : 80 Question Id : 799627730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 81 Question Id : 799627731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To which sector of economic activities does Agriculture belong?

Options:
1 ® Service

o o Primary

- % Secondary

4 w lertiary

Question Number : 81 Question Id : 799627731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 82 Question Id : 799627732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one out of the following is a job in an unorganized sector?

Options:
1 « Salesman

> % DBanker
5 % Government service

4 = Universify other than Private

Question Number : 82 Question Id : 799627732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 83 Question Id : 799627733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the incorrect option:

Contfainers for transport of goods has helped in:
Options:
, % Reduction in port handling costs

- = Increasing the speed of transport



- » Sending large volumes of goods by air

4 « Increased the cost of air transport

Question Number : 83 Question Id : 799627733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 84 Question Id : 799627734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When MNCs make foreign investment to set up production. they take care of a number of
factors mentioned below but one factor mentioned is incorrect? Identify it.

Options:

. Availability of skilled and unskilled labour at low cost

DR

-~ » Government policies that look into their interest

-  Expensive land. building and machines

4 % Production centres close to the markets.

Question Number : 84 Question Id : 799627734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 85 Question Id : 799627735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Indian Government and state Governments have set up areas called SEZ. One of the
following is not true of SEZ (Special Economic Zone). Identify.

Options:

; = SEZ are to have world class facilities like electricity. water. roads etc.

- % SEZ are to have recreational and educational facilities

- w Companies investing in industries at SEZ can hire workers for short periods of time

4 « They have to pay very little taxes for a period of five years
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Question Number : 86 Question Id : 799627736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The newspapers of mid-September 2015 reported. “Union Cabinet clears Shyama Prasad
Mukherjee Rurban Mission (SPMRM). What is the objective of this mission?
Options:

Development of rural clusters with latent potential for growth in all States and Union
1 « Territories.

- » Iransforming villages in desert and hilly areas into economically sustainable spaces

5 » Converting clusters of villages in tribal areas into cities

Transforming all villages of India into economically. socially and physically sustainable

4 % Spaces.

Question Number : 86 Question Id : 799627736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 87 Question Id : 799627737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Of the political parties in India. those headed by women are:

Options:
1 % BSPand CPM

-  Congress and Trinamool Congress



- % BIP and RSP

4 = Congress and CPI

Question Number : 87 Question Id : 799627737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 88 Question Id : 799627738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Students of a premier institute in the country are on a warpath regarding the selection of
their director. Which institute is 1t?
Options:
| « FI1IL Pune

> u IIM. Bangalore

. » NSD, Delhi

, # SPA. Delhi

Question Number : 88 Question Id : 799627738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 89 Question Id : 799627739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The headquarters of National Human Rights Commission are located in:

Options:
1 « New Delhi

> % Tamilnadu
z % Kolkata

4 % Ahmedabad

Question Number : 89 Question Id : 799627739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 90 Question Id : 799627740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following books has been written by APJ Abul Kalam?
Options:

, = Gitanjali

> # God of Small Things

- u Emperor of Maladies



4 « Wings of Fire

Question Number : 90 Question Id : 799627740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 91 Question Id : 799627741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cancer patient needs to consult.

Options:
1 % An orthodontist

> u A dermatologist

5  An oncologist

4 = AnOrthopaedic surgeon

Question Number : 91 Question Id : 799627741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 92 Question Id : 799627742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Prime Minister has launched the ‘Jan Dhan Yojana’ to encourage savings by
economically weaker sections in:

Options:
1 % Post Office

> % Any Bank

z % Mutval Funds

4 + Nationalised Bank
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Question Number : 93 Question Id : 799627743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Dengue virus is transmitted through bite of the mosquito.

Options:
1 « Aedes

> % Culex

- » Male Anopheles

4 # Female Anopheles
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Question Number : 94 Question Id : 799627744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which Haryanka King was contemporary of Gautam Buddha?
Options:

1 +« Bimbisara

> # Ajatshatru

5 % Udayin

4 = Mahapadma
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The concept of Economic Planning India has been derived from:
Options:

, « Russia (esrtwhile USSR)

> » England

s % USA

4 % France
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Question Number : 96 Question Id : 799627746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rate of doing work is:
Options:

, = Energy

o o Power
=z % Momentum

4 % Force
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Question Number : 97 Question Id : 799627747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why was Samardeep Subandh in the news recently?

Options:
, = Hehas been appointed India's Ambassador to Pakistan

- = He has been appointed the CEO of Amazon India

- u He has been appointed Google's new CEO

4 « He has been appointed the Chief Marketing Officer of Flipkart
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Question Number : 98 Question Id : 799627748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is also known as the sorrow of Bihar.

Options:



| % Ganga

> o Kosi

5 » Phalgu

4 w Ghaghara
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Question Number : 99 Question Id : 799627749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Paithan (Jayakwadi) Hydro-electric project. completed with the help of Japan, is on
the river.

Options:

| ® Ganga

> % Narmada
3 « Godavari

4 = Tapti
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Question Number : 100 Question Id : 799627750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DPT is a vaccine for:

Options:

; = Diarrhoea .polio & typhoid

- « Diphtheria. whooping cough & tetanus

- = Diarthoea. polio and tetanus

4 = Diphtheria, whooping cough & typhoid
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